GENERAL ABILITY TEST
10.05.2015 (2"° SHIFT) (5+23 POSTS OF SAQ)

Part - A

1.
Which one of the following parts of the sentence, ‘What’s the rate of exchange with the dollar’,
has an error?

(a) What’s the rate

(b) of exchange

(c) with the dollar

(d) No error

2.
Which one of the following parts of the sentence, ‘She came with a new idea for increasing
sales’, has an error?

(@) She came with

(b) anew idea

(c) for increasing sales

(d) No error

3.
Which one of the following parts of the sentence, “This is the decision the wisdom of which is
questionable’, has an error?

(@) This is the decision

(b) the wisdom of which

(c) is questionable

(d) No error

4,
Which one of the following parts of the sentence, ‘What type of a boy is he?’, has an error?
(a) What type
(b) of a boy
(c) is he?
(d) No error
5.
Which one of the following parts of the sentence, ‘The quality of this camera is inferior than the
one you have’, has an error?
(@) The quality of this camera
(b) is inferior than
(c) the one you have
(d) No error



6.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘The CBI sought permission for the officer’s INDICTMENT on charges of corruption’?

(a) Accusation

(b) Acquaintance

(c) Judgement

(d) Allegiance

7.
Which one of the following is the synonym of the word written in capital letters in the sentence
“The brain becomes SLUGGISH for lack of proper sleep’?

(a) Active

(b) Doubtful

(c) Slothful

(d) Suspicious

8.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Avoid using OBSOLETE words’?

(@) Slang

(b) Colloquial

(c) Idiomatic

(d) Outdated

9.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Even as a child, Thomas Edison had an INQUISITIVE mind’?

(a) Mature

(b) Complex

(c) Brilliant

(d) Curious

10.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Fruits and vegetables grew in ABUNDANCE on the island’?

(a) Profusion

(b) Sparse

(c) Scarcity

(d) Rapid



11.
Which one of the following words can be used as a substitute for the phrase ‘One who is all
powerful’?

(a) Strong

(b) Anarchist

(c) Omnipotent

(d) Omniscient

12.
Which one of the following words can be used as a substitute for the phrase ‘To free somebody
from all blame’?

(a) Obsolete

(b) Epicure

(c) Honour

(d) Exonerate

13.
Which one of the following words can be used as a substitute for the phrase ‘One who is
indifferent to all pleasure and pain’?

(a) Stern

(b) Stoic

(c) Egoist

(d) Eccentric

14,
Which one of the following words can be used as a substitute for the phrase ‘A place where birds
are kept’?

(@) Aviary

(b) Orchard

(c) Apiary

(d) Dovecot

15.
Which one of the following words can be used as a substitute for the phrase ‘Persons living in
the same period’?

(@) Current

(b) Periodic

(c) Contemporary

(d) Historical



16.
Which one of the following is the antonym of the word written in capital letters in the sentence
‘No one could know of his HIDEOUS design’?

(@) Ghastly

(b) Repulsive
(c) Pleasant

(d) Unacceptable

17.
Which one of the following is the antonym of the word written in capital letters in the sentence
‘Don’t be taken in by his INNOCUOUS behavior’?

(a) Harmful

(b) Innocent

(c) Upright

(d) Incredulous

18.
Which one of the following is the antonym of the word written in capital letters in the sentence
‘No words of sympathy could ALLEVIATE his grief and he kept crying’?

(@) Release

(b) Lessen

(c) Console

(d) Aggravate

19.
Which one of the following is the antonym of the word written in capital letters in the sentence
“The police CONFISCATED a huge cache of arm from the neighbouring village’?

(@) Seized

(b) Returned

(c) Appropriated

(d) Discarded

20.
Which one of the following is the antonym of the word written in capital letters in the sentence
“The chances for the Indian team to win seem SLENDER?

(a) Faint

(b) Slim

(c) Strong

(d) Enough



Part/ HTIT - B

21.
Which one of the following is NOT a trend of industrial relations in the post economic reforms
scenario?
(@) Consumers and community have emerged as important actors influencing the industrial
relation strategies of both the employers and trade unions
(b) The labour administration and the adjudication machinery are more willing than before to
entertain the concerns of the industry
(c) Declining trade union density
(d) Aggressive management practices replaced by more worker activism

i@ # @ i @ v, s guRicer aReed # 3ieafaes d@eur @1 ggfiea
T & ?
(2) 3usIeFaT 3R FHE , st 3R ¢ FhAwEr, aat H e deaw
gIFadl & JHTAT Fel dlel Hecaqul 3 & §T 7 3N
(b) ## GATHA AR =I-fA0TI 7 3T & FHRT & AT I & Tgol I
(c) 28 FAg=l & Hosar # Fae s
(d) 3TTShIH FatT TETcrdl T TAU 3UEThd 3t HHHR Hishdamrg o o ferar

22,
Which one of the following statements about Workers’ Participation in Management in India is
WRONG?
(a) The Need for Workers Participation in Management was emphasized in First and Second
Five Year Plans
(b) Itis included in the Directive Principles of State Policy of the Constitution of India
(c) There was a proposal to have a three tier participation at Board, plant and shop-floor
levels in 1977, which fizzled out due to the dissolution of the Government at the Centre
(d) Never in the history of Indian industry, Worker Directors operated at the decision-making
level



AR H 98T H HABRE T RN & aR A Aeafaf@a # @ Hia a1 s sy
TAT & ?
(a) SetreT 7 FHFRT FHr Al T 3TaIHdT W ggel AR gl d=adiy
A3 F g fear amar
(b) T HRA & TIAYUTA & I HI Alfcd & e dear H FFAfd §
(c) 1977 H a3, §IF IR FHATT TR W FEaT HEMERT F1 9Fda 3mar S
$g § WeR & [GuceT & HRUT 3TB § =T
(d) AR 3T & sfagE &7 F off Ao TR W FHeR Ages Fwrvede
el §T

23.
Quiality Circles as a grass root level participative management technique was first introduced in
which one of the following companies?

(a) Steel Authority of India Ltd.

(b) Bharat Heavy Electricals Ltd.

(c) Bharat Electronics Ltd.

(d) Bharat Heavy Plates & Vessels Ltd.

IMUR-ERIT TN Jeered dehelleh & &G H 0T HAsol AeAfaf@d & @ v wh
SO H FATUA e fohar a2

(a) TS ATRET 30w sf3ar fafdAes

(b) ¥R gl SelfFeehed fafAes

(c) AR Selaeladd falfdes

(d) ¥R gaY Tolcd Ug aded fafAcs

24.
The “Hot Stove Rule’ governing the disciplinary action is given by:
(@) Douglas M. McGregor.
(b) Richard P. Calhoon.
(c) Dale S. Beach.
(d) Dalton E. McFarland.



3mEfAS FRATS F [HAGHA HA arell gic Feld o’ fohgel yicaried forar a1 2
(3) ST TH. HPIIR
(b) R=g OY. Fregla
(c) 3o TH. &g
(d) STeed 3. HhHials

25.
The Code of Discipline, which was formulated for voluntary regulation of labour-management
relations, was ratified by the Indian Labour Conference in the year:

(a) 1955

(b) 1956

(c) 1958

(d) 1959

IIRIME gl &I, ST AHE - JaeeT Faell & eos Afagas & v s= s a5 o,

AR #{fh FeAeleT @Rt ohg a¥ & rqaader fohar arr ar 2

(a) 1955
(b) 1956
(c) 1958
(d) 1959

26.
The schemes of ‘Shop Councils’ and “Joint Councils’ as forms of Workers’ Participation was
introduced under:

(a) Forty Second Amendment Act of the Constitution of India.

(b) 20 point economic programme.

(c) Recommendations of the Indian Labour Conference.

(d) Recommendations of the Second National Commission on Labour.

HHABRT T FEAIAA & & H ‘RAST IRV IR TYFd IRV & AT fhash
31T YR &7 IS oA ?

(a) AR & TIAUTA I dTTeiTar TeereT ifafaze

(b) 20 & 3T FrIHA

(c) ARAT HfA® TFAeeT $r RAwiRer

(d) gfadT TS A\ AT A FAEIRE



217.
Workers’ Participation in Management was included in:
(@) Article 41 of the Constitution of India.
(b) Article 42 of the Constitution of India.
(c) Article 43 A of the Constitution of India.
(d) Article 44 of the Constitution of India.

Ul H HABRI Hr HENERT haa enfie & a5 o 2
(a) ¥R & AU FT 3Hefeise 41
(b) ¥R & FAETT &1 3HeTeoe 42
(c) ¥R & AU FT 3HeIeise 43 A
(d) R & FAeeT &1 3Tede 44
28.
Which one of the following statements with regard to the Workers Directors scheme in India is
NOT correct?
(@) It was introduced by the Central Government
(b) Initially it was introduced only for public sector manufacturing units
(c) It was introduced only for a few selective nationalized banks

(d) In the banking sector out of two Worker Directors, one represents the officers and the
other represents the workers

HRT H FHPR A Ao & aR & afaf@a # @ Fi9 a1 v T Tgr gt
g2
(a) 39 g TIHR SaRT IRHA fohar aram o
(b) IRH & 30 AF g a7 i /AT sesar & v yrer [Far 7 =r or
(c) 39 &% Fo e TsEIHd St & fav gRey fhar = o7
(d) Sfhar &1 F & HASR A 7 & ve HfFRAT &1 AR qE FASR #
yfafafcg &ar &



29.
Which one of the following statements about the Industrial Tripartite Committees is WRONG?
(a) These Committees are constituted with a view to promoting the spirit of tripartism
(b) These Committees deliberate on industry specific problems related to the workers
(c) These Committees are statutory and permanent
(d) These Committees are the outcome of the deliberations at the Indian Labour Conference
in 1944

e froelr GRRRT & oy & P & § #i @1 v U T o
() ¥ afafaar Buefiaar i sgar Ft dicaea g @ gfte O afsa $r s §
(b) T FfATTAT FAFRT ¥ TG 39 FAEABT W TR &A@ § o A s &
SegheT ¥ o ¥
(c) ¥ gfafaat gifafees 3t womrh §
(d) & wfAfAAT 1944 & gU XA HfA% Fraes & fFU a0 GuR-faad &
giome §

30.
Which one of the following was the first statutory bipartite committee for Workers’ Participation
in Management in India?

(a) Safety Committee

(b) Grievance Redressal Committee

(c) Canteen Management Committee

(d) Works Committee

fArfof@a & Fi9 @ t& |, AR F yaUa F FAPRIT AT Fgar & o gua
qifafde gfauelar wfafa o4 2

(a) TR&T AAT

(b) Rrpra faaror afafa

(c) &= veer @fafa

(d) & FfAfa



3L
A formula based group incentive plan is known as:
(a) Employee stock ownership plan
(b) Gainsharing
(c) Revenue sharing
(d) Flexible pay

A3 HHAE WG hd T F ST ST & 2
(a) FHARY Tl TATACT TToTel
(b) ITHATH TEHTSTT

(c) TTEd HEATSAA

(d) sT&T ddeT

32.
Who among the following are the leaders who guide or motivate their followers in the direction
of established goals by clarifying role and task requirements?

(@) Transformational leaders

(b) Level- 5 leaders

(c) Transactional leaders

(d) Charismatic leaders

frifaf@d # & 9 FiT @ A1 § S, {fHAT AR FI-39ET3T P TSC A g
39a IRt @ T el i fGur & Aviede a1 IR vere #Rd g 2

(2) FUTAROMcHD oAcl

(b) EIR-5 AT

(C) TIAGRIcHSD oic

(d) THPRT T

33.
In strategic planning process, SWOT charts are used for:
(a) Providing employees with job performance information.
(b) Gathering information about the firm’s environment.
(c) Formulating a mission and vision statement.
(d) Assessing the implementation of the strategy.



AT rsier gfshar & SWOT =ie e fow sgeFd gid € 2
(a) AT T HR-lASUTEA FIAT Talel ]
(b) SHTETT-JTATSIT & IRAA & TR H FIAAT Teh el
(c) fAereT 3R e faaor (fagte ¥eeHe) &1 Awqur =
(d) FI-ATT F FRATTTIA P 3Tholed HLT

34.
Gathering data about the organization and its operations and attitudes with an eye towards
solving a particular problem is knows as:

(a) Action research.

(b) Progressive research.

(c) Proactive research.

(d) Organisational research.

fordly Ay FFear & gAYy A TfSe § Harea 3R sHAT Aisha3it qAT AfAgicadr
& I H s ThT ST FAT hgdldl & ?

(a) TohaT 3reTEeTsT

(b) ST JreTeneT

(c) 3rarerell Jregaene

(d) HITSATCHS eTHTT

35.
Which one of the following is described as the shared values, principles, traditions and ways of
doing that influence the organization members’ act?

(@) Organisational hierarchy

(b) Organisational culture

(c) Organisational policy

(d) Organisational philosophy



fArfafa & @ Fg v & |, TITeT & TSIl & FF W YHIT STeld Tl AT
Aedl, fagidl, W3t AR FF aet & d-aliet & & 7 aftia fear ST § 2
() TITST-3TTh
(b) HaTSH-HERTA
() TITST-ATTT
(d) TITSA-G2TeT

36.
Applicant tracking systems are used by employers to:
(@) develop work samples.
(b) implement work norms.
(c) verify employee citizenship.
(d) verify employee skills.

forasTeht qarT 3Mdee 3fefactel (¢fshar) gonferar fra forw ggera & el § 2
(2) F-vfdee Awfdd = 8q
(b) SR-GidAET HrAfead H= &
() TR AT ARTR AT FeAIT A &)
(d) ETRT el AT FeATTA HA &

37.
Comparative ratio analysis is used for evaluating:
(@) reward system.
(b) training.
(c) job performance.
(d) job.

dolellcH 3HeIard faeelvor fhaeh Hearehet 8 YgeFd glar g ?
(a) IR JoTTelr
(b) Tferator
(c) F-fAsaTe
(d)



38.
In selection test validity, the extent to which it is felt that the test ‘looks’ right in measuring what
it is supposed to measure indicates:

(@) Content validity.

(b) Face validity.

(c) Construct validity.

(d) Concurrent validity.

aRoT qQEI0T Juar &, 59 AT gk Ig Jggy R S R adietor @ S s Arar
ST AT 38k AT H GL&T0T TET Uolid T & FIT SRId &Ll g ?

(a) 3fcAdEq AErer

(b) 3THTET JerT

(c) AfFa ayar

(d) FHSAT derdr

39.
Which one of the following terms refers to repetitive sequences of activities that express and
reinforce the important values and goals of the organization?

(@) Corporate culture

(b) Corporate ethics

(c) Corporate rituals

(d) Corporate agenda

fAeof@d & @ T A1 U Ge-aY Sharholdl & 37 eRTad 3efshaAl @l Aiése

S

AT § S HITSel & Hgeaqol Hedl AR o&al &l e¥eFd AR goAaferd ad § 2
(a) PRURC HERIA
(b) HRURC ARG
(c) FRURET IeTear= (Rg3re)
(d) SHRURC SR
40.
A task force is:
(a) a matrix structure.
(b) a virtual team.

(c) astrategic committee.
(d) an ad hoc committee.




HIY-Sf (CTEH BIE) FAT 8T g ?
(2) 3o (Afgerq) AT
(b) 3TeTET Erelr (T3l )
(c) TR (Feeforen) afAfa
(d) ey afafa

41,
Which one of the following is the smallest unit of computer memory?
(@ RAM

(b) Byte
(c) Nibble
(d) Bit

frfaf@d & @ ®la @ e, Froger T @A) & a0 o1 5H:E ¥ 2
() ¥ (RAM)

(b) S8
(c) Teer
(d) Se

42.
Which one of the following is an executable file?
(@) Salim.exe
(b) Executable.doc
(c) Subhash100.txt
(d) Execute.html

Al # @ @i @ v, focaeg i (Tersiiagede Bige) § ?
(a) TellH.exe
(b) fersaTe.doc
(c) gATY100.txt
(d) ForsaTeaT.html



43.
Data in multimedia contains:
(a) text, number, picture, animated graphics, video, sound etc. in combination.
(b) video and audio.
(c) text only.
(d) light and sound shows only.

sgaTeTH (AfccahfEan) & 3iex aca (3en) & FT g § 2
(a) 9T, TET, O, FeiiarerdT el (viaAces anfteerq), Aifsa, eafa scaife,

et H
(b) df33m 3k 33
(c) hadl UTS

(d) Faer Teprer 3R eafey deRle

44,
If you have to prepare several letters having same content but different address to be sent to
many candidates for interview, which one of the following facilities of a word processing
programme will you use?

(@) Copy and paste

(b) Mail merge

(c) Find and replace

(d) Format

Ifg 3mue!, WefchR g 8 3eAfIA A A T & AT v & IHATE] arel 3l
I9 IR 6T 81, dl 319 2TeG UshAUT HACRT (I3 WATHIT Wame) Fr AeaAfai@d &
8 et AT T FAUT HT YAT HI 2

(a) gfafaf (prdh) 3R U= (ITe)

(b) GfrhT e (Aol #ol)

(c) @raT (wrE3) 3R ufaeurae (Reer)
(d) &I (PRHAT)

45.
Which one of the following programmes can read an html language and convert it into a page
which is in readable form?

(a) Word Processor

(b) Text Editor

(c) Spreadsheets

(d) Web Browser



frfaf@a wacet & & &l ar e, REr html ST AT 96 38 10T 9§69
(I39re BIA) & g6 A FUARA F Hebell § ?

OEEAETED

(b) 976 HUGH

(c) faEqa (FIseiey)

(d) A9 ges-aRade (ST3eR)

46.

Which one of the following statements about Single File System (SFS) is NOT correct?

(@) The file cover of a SFS case should prominently show the name of the originating NSO
(Non-Secretarial Organisation) and likewise indicate that it follows the SFS system

(b) This will apply to matters which have to be referred by the NSO to the department for
seeking a sanction / order

(c) The SFS file must bear an 1.D. No. or formal method of sending

(d) All SFS files will be invariably routed through the central registry of the department
concerned

Uohel GRS JOTTRl (SFS) & aR H eAfai@d & & &l O1 U HUT TEr A8l § ?

(a) fREY SFS ATHSY & AT 3GT0T il YRHASAT AR HIasT (NSO) &l
ATH YT G2 TIfgT 3R 8l YR T§ S et =T fob T§ SFS
OTTell T HTEOT T

(b) IE 3T AHSAT W o] g1, Sog HERid / S Ied i & v, NSO
CART fIHRT & AST ST 8l &

(c) SFS TRIHT W TH Ugdlel T&AT (1.D. No.) 37T gl AT a1 38 iR
ggfa O AT JT AT

(d) g3 SFS R Tea &g [FomT fr FET TIET T SHT & A e
aiRT

47.
All official communications between the Government of India and Foreign Missions in New
Delhi shall be addressed to and by the:

(@) PMO.

(b) Ministry of Home Affairs.

(c) Ministry of External Affairs.

(d) President’s Secretariat.



IRT THR 3T 715 eer Fuad A Feet & fv gl TRy TR fFaewr 31k
fohdesh ganrT &1 HafSd gl d1gu :

(a) T FAT HIATAIT (PMO)

(b) & HATIA

(c) Tacer FATeT

(d) Iregafa afarer

48.
Drafts which are to issue as ‘Immediate’ or “Priority’ will be so marked under the orders of an
officer NOT lower in rank than:

(a) Deputy Secretary.

(b) Under Secretary.

(c) Section Officer.

(d) Assistant.

ST 99T I ‘Ao’ AT 3AAT & T H IART gl g, 306 U TURRT & 32T &
3T 59 &7 # RIEAa fhar smwen | ag 3fery 3¢ & Fafef@d & O 59 s
RSRT & A FT AT gam ?

(a) 39T

(b) 37} Tfag

(c) 3reTermar Jiferehrdy

(d) "I
49,
Which one of the following statements regarding Prorogation of the House is NOT correct?

(a) Prorogation means the termination of a session of the House

(b) On Prorogation of the House, all business pending before the House lapses

(c) After the House is prorogued, no sitting of the House can be called
(d) President has power to promulgate Ordinances when the House is prorogued

el o AT & IR H Heafafl@d & & Fid a1 T HUT Ter A8l ¢ ?
(a) FITGTTT &1 3T § T & U T & qIadred
(b) TET T FAGHTT Bled W, TGl o THET difdd T HT TIWTT & I &
(c) T&aT &I FAGHNT gl Sllel & dlg, Wﬁaﬁééo*a‘é‘rgmémm
(d) IS HesT T FATATA & IAT g1, I AU bl e I J&AUd el
dr ofFa g &




50.
According to the Warrant of Precedence, in India, which one the following is highest in rank
among them?

(@) Holders of the Bharat Ratna decoration

(b) Judges of the Supreme Court

(c) Deputy Chairman, Rajya Sabha

(d) Attorney-General of India

HRA H, 3T AT (GRE 3 MlisH) & IER, Hefafad & 4§ i ar wh
3oTH 3TddH (& FI g ?

(a) AR Teed ITARIUT & YR

(b) 3TTTH =TI & ~TITedrer

() T FAT FT 3ugsafa

(d) ¥RA FT HAGITIATET

51.

The commercial silk is obtained from cocoons secreted by salivary glands of:
(a) Spider
(b) Bombyx mori
(c) Corcyra cephalonica
(d) Hypera

aifoifsae e, fhasr aR AT & Ffdd It (hepal) & ared fhar Srem & 2
(a) oIdT (FT$X)
(b) STfFIFH AR
(c) PRRRT TAhaliferehr
(d) BIS9T

52.
Which one among the following does NOT belong to Algae (Thalophyta)?
(@) Chara
(b) Cladophora
(c) Funaria
(d) Ulothrix



Teafaf@a # O ST a1 v, darar (FAIwser) F Tg0 3T ?
() T
(b) FISIHRT
(c) FgARET
(d) Ten e

53.
Which of the following is present in both xylem and phloem?
(@) Tracheids
(b) Sieve tubes
(c) Companion cells
(d) Parenchyma

farafaf@a # & i @l ek, g% (Sged) 3R Avag (FelvA) gl H fagTATT
gIT/gIcT & 2
(2) aTfRfAehIT (Ehrgsd)

OEGGIGIGEIL
(c) TETX HITARIT
(d) Hedeh (Rehrga)

54.
The stars twinkle in the sky because the light coming from the stars passes through air having
gradually changing:

(a) refractive index.

(b) material density.

(c) both refractive index and material density.

(d) temperature.

3MeReT # dR feAfeArad &, Fifd art @ 31 arell Jehler 30 gaT & gl IRl &
Sraar seer: aRafda grar w&ar &

(a) 39dcATh

(b) 9T Gelca

(c) 3TadeTih AR 91 Gelca gl

(d) aTIFHTT



55.
A piece of wood is placed first in a vessel containing water and then in a vessel containing saline
water. What one observes is that the piece of wood:

(@) completely sinks in saline water.

(b) floats less in saline water.

(c) floats more in saline water.

(d) just sinks in saline water.

ISS HT Ueh oh3T Tgel Il & 8 I & 3R 38 dlc TR Ul & R o H 1@r
ST &1 I @1 STl § o 1SS &1 gahsl

(a) @R 9T 7 qUIA: 89 ST §

(b) @R 9=l F HH Rar &

(c) @R Ul F 39eTFa A Rer &

(d) @R 9l # 8k a1 W BT &

56.
A solid cube, a thin circular plate and a solid sphere are made of the same metal and have the
same volume. They are heated to the same temperature. If left in the air to cool, which of these
will cool fastest and slowest respectively?

(@) Sphere, circular plate

(b) Cube, sphere

(c) Circular plate, cube

(d) Circular plate, sphere

T B ©el, Ueh Ycell JecllohR Tl AR Teh 31 el Teh g1 U] & &1 & 3R 3eler
A A § | 3¢ TAT a9 doh I RAT AT § | IS 3¢ 33T 8l & foIT gar
H @ AU, O 95 & Fid, HAA: Je9 d 3R Jad o€ 33 gt 2

(a) IMelT, JecdThR Tele

(b) &=, IMell

(c) eIk T, T

(d) JeaThR ToIe, el

57.
A person standing in front of a mirror finds his image larger than himself. This implies that the
mirror is:

(@) Concave.

(b) Convex.

(c) Plane.

(d) Broken.



gUUT & YA T3T IS AfFd Wl & b 3T Ufafed 389 93T & | STHT 3T §
o ot :

(a) 31adel g

(b) 3ot &

(c) THAT §

(d) geT g3 ¥

58.
When pressure is applied on a piece of ice, its melting point:
(a) decreases.
(b) increases.
(c) first increases and then decreases.
(d) remains unchanged.

o9 o & Teh gehs WX Gl ofaldl Il &, al 38T Iefalieh
() T ST &
(b) §G ST &
(c) Ugel ¢ ST &, R g¢ SATaT §
(d) 3afkafdd s BT &

59.
In vacuum, a coin and a feather are dropped from the same height simultaneously. Which will
reach the ground first?

(a) Feather

(b) Coin

(c) Both at the same time

(d) feather drifts away

fodTe &, e et 3R T 4@ GART FA$ § Teh @Y ORI SIS § | A W Hed
TERY T TG 2

(a) 7T

(b) ForT

(c) BT, T & AT W

(d) 9@ 3rarfed & e &



60.
Lead pencils:
(a) contain lead with a little plastic clay.
(b) contain bauxite with charcoal.
(c) do not contain lead but graphite mixed with a little bit of plastic clay.
(d) do not contain graphite at all.

T (o) ufdel H
(a) WS Gued (confees) AT & ary dar giar g
(b) TRFIT & Y SFdSe gar &
(c) TXT TG g, fohq e W Fered A & Ary Ao g3m dwise &r &
(d) Fprse fSerper & G g

61.
Which one among the following is a source of renewable energy?
(a) Wood
(b) Fossil fuel
(c) Coal
(d) Wind power

ffaf@a & O Fia @1 v, AdeoiT Fa1 &1 d9id § ?
(@) 1S
(b) SrareaT Sy
(c) I
(d) gaeT erfad

62.
Which one among the following is NOT a layer of Sun?
(@) Chromosphere
(b) Corona
(c) Photosphere
(d) Mantle

fafaf@a 7 & #i9 @ o, g i wa 7@ § 2
(a) TUTHSS (FIATTHIR)
(b) SPRIAT
(C) ThIRI-AScT
(d) AR (Hee)



63.
The acid used in lead storage batteries is:
(a) Sulphuric acid.
(b) Nitric acid.
(c) Hydrochloric acid.
(d) Acetic acid.

T Farge JeRIT (I3 TR Selisl) # G 35 Sl @1 g ?
(a) TeFIRe 3
(b) STSfgeh 31Fer
(c) BTSIFelRer 3Toel
(d) afesd 3rFar

64.
Which one among the following is a metalloid element?
(@) Mercury
(b) Germanium
(c) Bismuth
(d) Phosphorus

fAmfaf@d & @ sl @1 v, 39urg dca € 2
(a) 9T
(b) ST
(c) feoemy
(d) IEPRE

65.
Which one of the following fractions of petroleum has the lowest boiling point?
(a) Kerosene
(b) Diesel
(c) Petrol
(d) LPG

deiferad & efai@d & @ foha Teh 30 &1 FaUelih wgeIdd giar ¢ ?
(a) HAHT
(b) Sreter
(c) dgrer
(d) LPG



66.

During the study of the weather conditions of a place for 9 days, it was observed that it rained on
7 days, morning or evening. When it rained in the evening, the sky was clear in the morning.
There were five clear evenings. How many clear mornings were there?

(a) 2

(b) 4

(c) 6

(d) 3

fopdY TareT & HigH Y A3t &1 9 AT IF ITIIT T & eNIeT , Ig QT AT fF T8I 7
%ﬁ,wm%m,aﬁgélm%mﬁaﬁgé,ﬁmrwﬁwm | 9 feaT e &

3TTRTRI T AT | 981 TR Fohclal Tt geig & ATehIer A1H AT 2
(2) 2
(b) 4
(c) 6
(d) 3

67.
What is the angle in degree made by a sector, the ratio of whose area with the area of quarter
circle is equal to 1:5?

(@) 9 degree

(b) 18 degree

(c) 24 degree

(d) 36 degree

Ife el Bsg-d@s & &the 1 U god & SThd F IqUrd 15 &, o 58 Bea-ws
CaRT oA arel 0T &1 33 H A1 AT grem ?

(a) 9 f3alt

(b) 18 f3af

(c) 24 f33fY

(d) 36 f33fY

68.
Suppose a, b and ¢ are natural numbersand 2s=a+b+c. If (s—a): (s—b): (s—c) =1: 7: 4, then
ratio of 2a: c is:

(a) 11: 4

(b) 11:8

(c) 4:11

(d)8:11



AT ANFAT 4, b 3R ¢ &aTqot FEAW § 3 2s=a+b+c g 1R (s-a): (s-b): (s-¢c)=1:7: 4,
ol 2a: ¢ T 3HeIUTeT 47 § ?

@ 11:4

(b) 11:8

© 4:11

(d) 8:11

69.
‘M’ can dig a trench 40 metre in depth in 4 days working equal hours for a day. Next day
morning and every morning thereafter he finds that one fifth of the net depth as at the end of the
previous day has got filled up with the mud again. What was the depth of the trench in the
beginning of the fourth day?

(@) 14.40 metre

(b) 23.61 metre

(c) 19.52 metre

(d) 24.00 metre

‘M’ &Y ot THT g¢ 1 R 4 fedl & 40 Hiex 788 WS @ig Thar & | 39T o
gag 3 deueard g g 96 q@dr ¢ & oo G & qafta a @dr 8 g
GRS (AT SHY) T Uiadl FEH Hra 3§ H oz 3R T ¢ | WY T & 3R A @ig
$r s FAT o 2

() 14.40 Hiex

(b) 23.61 HreX

(c) 19.52 #Hrex

(d) 24.00 FHrex

70.
‘A’ has certain number of oranges to sell each for Rs. 2. ‘S’ bought 25% of the total oranges and
“T’ bought one third of remaining. ‘M’ bought 50% of what was left and ‘P’ bought 4 oranges.
The total amount paid by ‘S’ and ‘M’ is Rs. 24. What is the cost of oranges purchased by “T’?
(@ Rs. 6
(b) Rs. 8
(c) Rs. 12
(d) Rs. 16



A FHITHFE IR, & 29 FRT R X AT & AT E 1S A Fol TR H7
25%@?534‘1?‘?#3?1@’@14’81’?%@-%31‘%@?5 | ‘M” & QY I HART T 50%
Glier 3R P’ A 4R @l | S’ AR M’ GaRT AT T A ol ARA T 24 § 1T
GaRT @IS 9T HARF Tl meTd 1 § 2

(@ %.6

(b) T.8

(c) %.12

(d) %. 16

71.
‘A’ has certain number of oranges to sell each for Rs. 2. ‘S’ bought 25% of the total oranges and
“T’ bought one third of remaining. ‘M’ bought 50% of what was left and ‘P’ bought 4 oranges.
The total amount paid by ‘S’ and ‘M’ is Rs. 24. How much oranges are left with *A’?

(@) Nil

(b) 2

(c) 4

(d) 6

A FHITHFE IR, & 29 FRT R X AT & AT E 1S A Fol TR H7
25%@?534‘1?‘?#3?1@’@14’81’?%@-%31‘%@?5 | ‘M” & QY = HART T 50%
Glier 3R P’ A 4ER @l | S’ AR M’ @RT $ITaT T IS Fol AR T, 24 F 1A’
& 9T fohdet TR § 2

(@) [T

(b) 2

(c) 4
(d) 6

72.
‘A’ has certain number of oranges to sell each for Rs. 2. ‘S’ bought 25% of the total oranges and
“T’ bought one third of remaining. ‘M’ bought 50% of what was left and ‘P’ bought 4 oranges.
The total amount paid by ‘S’ and ‘M’ is Rs. 24. Equal number of oranges were purchased by:

(@) ‘S’ and ‘T’ only

(b) ‘T’ and ‘M’ only

(c) ‘S’ and ‘M’ only

(d) *S’, “T" and ‘M’



A FHITHFE IR, & 29 FRT R X AT & AT E 1S A Fol TR H7
25%@?534‘1?‘?#3?1@’@14’81’?%@-%31‘%@?5 | ‘M” & QY I HART T 50%
Glier AR P’ A 4 ER @l | 1S’ 3R M’ EaRT AT Y IS FeT AR T 24§
fra-fha o gae I&ar # aaR @G ?

(a) hael ‘S’ 3R ‘T' o

(b) haer ‘T’ AR ‘M’ A

(c) hadl ‘S’ IR ‘M’

d) s’ T’ 3R ‘M o

73.
What is the number of sets, whose elements are consecutive numbers, such that sum of elements
is 60?

@ 3

(b) 5

(c) 2

(d) 4

3T ATl T HEIT 1§, ool ad AN TN §, 36 TR b Hagdr @

1T 60 § ?
(@ 3
(b) 5
(c) 2
(d) 4

74.
What is the average of first 20 numbers of multiples of 2 and 3 ?
(@) 60
(b) 63
(c) 66
(d) 69

2 3R 3 IUTRT T JUH 20 FEAIHT HT AT FAT | 2
(@) 60
(b) 63
(c) 66
(d) 69



75.
By selling an article at a profit of 10 percent, a man got Rs. 340 more than one fourth its price.
What is the price of the article?

(@) Rs. 200

(b) Rs. 300

(c) Rs. 400

(d) Rs. 500

forelT Tl & 10 Sfaerd oM R a9 & fordl afad & 38T diE Fad %
340 31f8& grcd @i § | 39 At Fr frAd F41 § 2

(a) &. 200

(b) %. 300

(c) &. 400

(d) %. 500

76.
If 75% of 40 students of a music school can sing and only 20% cannot dance, what is the
maximum number of students who can either sing or dance?

(@ 8

(b) 10

(c) 18

(d) 22

afe frer wefia faeamea & 40 faganfiar & 75% facamdt Faa am @ §, 3R Faa
20% el sjcg Fgl T Hevcl, o 3o TaeaIidT & 3iftehas Fear &ar g & ar ar
M Fhd & AT JcT X Hohd ¢ ?

(a) 8

(b) 10

(c) 18

(d) 22

77.
If 75% of 40 students of a music school can sing and only 20% cannot dance, what is the
minimum number of students who can neither sing nor dance?

(a) 8

(b) 10

(c) 18

(d) 22




afe frer Tefra faeamer & 40 faeanfiat & 75% facandf Faer am @wa §, 3R Faa
20% TaeTt e g Y Wbl , o 3o AT &1 ~geTad d&ar a1 § St of an
Hehd § o 8 3cT aX Fehd § 2

(@ 8

(b) 10

(c) 18

(d) 22

78.
Which of the following signs have to be interchanged to make the equation 5+ 3 x 8 -12/4 =3,
correct?

(@ +and -

(b) —and/

(c) +and x

(d) +and/

AT 5 + 3x 8 -12 / 4 = 3 bl T A & v , Rfaf@ad Real § & e
Y H &l ST g ?

(a) + 3R -

(b) - 3R/

(c) + 3R x

(d) + 3R/

79.
What will come in place of X in the sequence 3GP, 8HS, 23JV, 68MY, X?
(a) 105RC
(b) 203QD
(c) 203QB
(d) 205QD

31IshA 3GP, 8HS, 230V, 68MY, X #H X & T 9T AT JTTI ?

(a) 105RC
(b) 203QD
(c) 203QB
(d) 205QD



80.
A man walks 9 m towards east from point ‘A’ and then turns right, walks 6 m and turns right,
walks 9 m and turns left, walks 5 m and then turns left, walks 12 m and finally turns left and
walks 6 m to reach at point ‘B’. What is the distance between point ‘A’ and point ‘B’?

(@ 13m

(b) 12m

(c)5m

(d) o

g SAfFd T ‘A’ ¥ 9 m qd &I IR Tl § HR a9 arfgelt 3 H3 ST &, Y 6
m Tl F Eligetl T HS S 8, T 9 m =el &Y a5 3R 3 SIem ¢, Y 5 m el &Y
SIS 3T 73 ST 8, Y 12 m Tl T 37cfd: §1$ 3R H3 S1ar & 3R 6 m Tel T T
‘B’ W 9ET A § | T A’ AR T ‘B’ F T ol gl & ?

(@ 13m

(b) 12 m

(c)5m
(d) 0

81.
Serious Frauds Investigation Office functions under the administrative control of:
(@) Ministry of Corporate Affairs.
(b) Central Bureau of Investigation.
(c) Department of Financial Services.
(d) Prime Minister’s office.

MR TS ST FATeT hds e =TT & 31efieT T T § ?
(a) PRURCT S HATT
(b) ST 3fedWoT ST
(c) e Tar faermer
(d) T8 FAT FATAT

82.
Which one of the following statements is NOT correct?
(a) There exists a non-lapsable fund for the North Eastern Region
(b) The North Eastern Council is the nodal agency for economic and social development of
the North Eastern Region which consists of seven states
(c) Subjects allocated to the Ministry of Development of North Eastern Region include
Sikkim Mining Corporation Limited
(d) The 26 km long Siliguri corridor that links most of the states in the North Eastern Region
to the rest of India is commonly known as the ‘Chicken’s neck’



ffofaa & & 39 ar v FUa Tgr 7@t g ?

(a) 3ccR-gdl &7 & v reaweey (Fid-ocaad) A ez §

(b) 3cc-gdl aRwe, Scae-gdl & &, S @ T d Aol Y &1 g, 3 31
g Qe & T te Asd v §

() 3ccR-qdt &7 e Aoy & fAga fawal & fAfFwd Arsfaer sRarere
fafaes afae &

(d) 26 km ofel TS TR (FIRSR) @I, ST SecR-qdl &F & TR Tl HY
AY IRT A AT g, 3MH ¥ W ‘Rhed a3’ & JF7 O AT S &

83.
Which one of the following is NOT a permanent Commission?
(@) Administrative Reforms Commission
(b) Law Commission
(c) National Commission on Cattle
(d) Khadi and Village Industries Commission

fefaf@a & & Sia a1 v, TART 39T 767 § 2
(a) JemEaeh FER AT
(b) Tafer 3marer
(c) TSET MYy TANT

(d) @Y 3R ATACHT T
84.
Which one of the following statements is correct?
(@) The maximum size of Union Cabinet is not prescribed in the Constitution
(b) The maximum size of Union Cabinet is mentioned in the Directive Principles of State
Policy in the Constitution
(c) The size of Union Cabinet is decided by President of the ruling party or coalition
(d) The size of Union Cabinet is decided by President of India

farfaf@a & & i a1 v FydT T g 2
(3) TT & ARHSAT T HAGcdH PR oy & fAfgd 181 &
(b) T & HAFHAZST FT AGcdd PR ATAUTH H 5T T Alfd & [ARF dear &7
sfeaiad §
(c) TT & ARHSA & JHR ATAF Gl AT ISTYT & JETeT aRT AU glar &
(d) §T & ARAST T IHR ARG & Tsgufa garr Feifa gar g




85.
MGNREGA provides a:
(a) duty-based framework.
(b) right-based framework.
(c) entitlement-based framework.
(d) gender-based framework.

MGNREGA @I &T gT Y&l dl § ?
(a) eted (3gE)-3menid grar
(b) 31f8R-3TenRa erar
(c) §hERI-3TaIRa erar
(d) ForRT-3mena erar

86.
The Joint Sitting of the Parliament of India is Chaired by:
(a) Speaker.
(b) President.
(c) Vice-President.
(d) Deputy Chairman of Rajya Sabha.

HRA T THe, T AYF SSch T EALTAT il Il g 2
(a) olleh TT T 37ETET
(b) TrsgafaY
(c) 3WTSeufd
(d) TSI JHT T 39FATITY

87.
Article 370 of the Constitution of India deals with:
(a) Emergency power of the President.
(b) Special status to Jammu and Kashmir.
(c) Special provisions for minorities.
(d) Amendment procedure.

HRA & HAU HT IeIeoe 370 fohas T # § 2
(a) TsCATT &1 TPl QAfFd
(b) SFA-HAR 1 Ay iRl (Fqerer weea)
(c) MeuaEgsl o T Ay 3ueer
(d) AT FishaT



88.
Which one of the following is NOT a fundamental right?
(a) Right to equality
(b) Right to Constitutional remedies
(c) Right to property
(d) Right to life

fAeAfaf@d # @ &l & T, AT 3RPR T8 & 2
(a) AT I AHR
(b) Efaenfae 3TART &1 3fHER
(c) Tufed &1 SR
(d) 9roT @7 IfER

89.
The time gap between two sessions of Parliament is NOT more than:
(@ 1 month
(b) 3 months
(c) 6 months
(d) 9 months

THE_ & al FA & & F FAAGR el & FATET A g 2
(@ 1HT"E
(b) 3 AT
(c) 6HH
(d) 9HTH

90.
The Right to property in India is:
(a) alegal right.
(b) a civil right.
(c) included in Directive Principles of State Policy.
(d) a fundamental right.

HRT H T9fed T 3R
(a) fafrs 3R &
(b) fFafaer IRFR &
(c) T Fr Afd & fAces deal # 3iafdse g
(d) 7T IR &



91.
Which one of the following countries has an unwritten Constitution?
(@) Germany
(b) France
(c) United Kingdom
(d) United States of America
fArAfaf@a # 9 fha s g & Hfaf@a d@fqur § 2
(a) STHA
(b) rE

(c) gTSeS fehaTsH
(d) TFFA T AT
92.
Right to Education has been guaranteed in India only to the children:
(@) below 14 years of age.
(b) below 6 years of age.

(c) between 6 to 14 years of age.
(d) irrespective of their age.

HRT H TG &7 PR oot 3o el Sl Jears(d fohar arr g, =i
(@) 1498 & ®F T &
(b) 6aY & A 3T & ¢
(c) 6& 14a¥ &I Y & & & §
(d) =me el o 3y & &

93.
Who was the Chairman of the National Commission to Review Working of the Constitution?
(@) Justice R S Sarkaria
(b) Justice M N Venkatachalaiah
(c) Justice J S Verma
(d) Justice Kuldip Singh

TS e AT YeIT0T AT &l 3HEFeT @il AT 2
(a) FRATT IR TH EHRAT
(b) FIRATT TH T dehcaordn
(c) FEAIT o TH FHAT
(d) =TS Ford g



94.
The Judges of the International Court of Justice are elected by the:
(a) General Assembly, on the recommendation of the Security Council.
(b) Security Council and General Assembly voting simultaneously.
(c) Economic and Social Council.
(d) General Assembly and Security Council voting simultaneously but separately.

AR AT & ARl &1 faTasr fhaeh ganrt forar Sirar § 2
(a) GR&T gRwe dr A®IRLT o HAgrasm ganry
(b) TR&T IRWe 3 AT & Ueh & FHI HAA SgRT
(c) 3 3R FHfos aRve, ganr
(d) Y&t gRwe R FEEHT & Teh & AT foh] 3eleT-31eleT HAG GaN

95.
Members of the Committee on Economic, Social and Cultural Rights are elected by the:
(a) States Parties to the International Covenant on Economic, Social and Cultural Rights.
(b) General Assembly on the recommendation of the United Nations Secretary General.
(c) Economic and Social Council on the recommendation of the United Nations High
Commissioner for Human Rights.
(d) Economic and Social Council.

e, Ao 3R el sfRer afffa & sawr Fes Err FafRd gia €2
(a) 3nf¥e, FAToF 3R AEFias FUERT W HTET FHaeEr & FEAE
Al ganT
(b) YT IT AFTARIT T FABING TR FAGTHH R
(c) T IS¢ ALT-3THR ITurdrer H AR R 3 3R Fafs aieg
¢arT
(d) 31w 3R aFfSE aRwe ganrt

96.
The offer to set up Constituent Assembly was first made by:
(@) Cripps Mission
(b) Linlithgow’s Offer
(c) Wavell Plan
(d) Cabinet Mission



AfAUTT THT & ST T 9TdTd JAGLH fhaet fhar ar 2
(a) forcar A2
(b) foraAferem &1 g&da
(c) daeT TNSTAT
(d) hideie ee

97.

Which one of the following pairs is correctly matched?
(a) Sarkaria Commission : Union-State Relations
(b) H R Khanna Commission : 1984 Riots
(c) Venkatswami Commission : Bofors Scam
(d) M C Jain Commission : Tehelka Expose

frafof@d & & @i a1 wF oA e gAfed § ?
(3) TRPIAT AN : FIIST T
(b) T 3R WeelT 3TINT : 1984 & &ar
(c) dheEarsT AT : BT BTl
(d) T & ST 3TI9T : dgolohl HSThIS

98.

Which one of the following is a principal organ of the United Nations?

(a) Human Rights Committee

(b) Economic and Social Council

(c) International Labour Organisation
(d) International Law Association

fArfaf@d & @ il @1 v, Ggad TSE T T 3097 § 2
(a) AT FHR FfATT
(b) 3 3R AR TRwe
(C) 3ARITSET HH HISA
(d) 3arser fafer |y

99.

Which one of the following Committees was appointed to study the problem of corruption in

public administration in India?
(@) Appleby Committee
(b) AD Gorwala Committee
(c) Santhanam Committee
(d) Rajamannar Committee



ffofaa & & aia @ v afAfa aRa 7 e WREaT # FSeaR S TALT &
TG & fAv fAged & a5 o 2

ORECEIRSIEIG]

(b) T 8 IIRarem wfAfa

(c) Tu=H gfafa

(d) TSTHR |iATT

100.
Which one of the following bodies has the power to enforce international peace in case of
existence of any threat to the peace, breach of the peace or an act of aggression?

(a) General Assembly

(b) Security Council

(c) International Court of Justice

(d) International Criminal Court

frfaf@a 7 & fFa to Fe & aifd & F15 Ta Gegae g, enfd &er g
T 3THAUT T GeaAT gl HI &M H FIRTSCT ifd & Jaded T Aferd 72

(a) FETEHT

(b) T TR,

(c) ITRTERT T

(d) FTRTSET &3 AT

101.
Which one of the following principal organs of the United Nations has the power to consider and
approve the budget of the Organisation?

(@) Security Council

(b) Economic and Social Council

(c) General Assembly

(d) Secretariat

TgFd Tsg & A=Al & @ 6 T Tl 3097 &I TIMeeT & dolc W faar wa
3R 38 AT FE i ARFT & 2

(a) & TR

(b) 3T IR FFAITSS aRwg

(c) FgTHHT

(d) FiareT



102.
Decisions of the United Nations General Assembly on important questions shall be made by way
of:

(@) simple majority of members present and voting.

(b) two-thirds majority of members present and voting.

(c) three-fourths majority of members present and voting.

(d) consensus of members present and voting.

HEcdYUT YAl W HYF USe HIEHT & afAeay fhg {fa & o svear 2
(2) 39T 3R AT A dTel HeFAT T FUROT STEA
(b) 39RUT AR AdElT = aTer T &1 al-fogrs SgHAd
(c) 39U 3R AdelT A dTel FeFd &1 AA-Tg STEAd
(d) 3ufEya 3R AdeT F arer FeLdt Fr AT

103.
Which one of the following Fundamental Rights can NOT be suspended even during an
emergency?

(a) Right to equality

(b) Right against exploitation

(c) Right to life and personal liberty

(d) Right to freedom of religion

fFefaf@d & @ @l a1 T Ho 3SR AT & el o fAcifad agt fhar
ST HheT ?

(a) AT &7 PR

(b) eNYOT & Ta%g 3fUFR

(c) 99T 3R &fder Taaaar &1 feR

(d) &/ T FTadAAAT F AARR

104.
The superintendence, direction and control of elections in India are vested in:
(@) Supreme Court
(b) Parliament
(c) The Election Commission
(d) The Chief Election Commissioner



AR F gt @ srefetor, e iR o frad @fka & 2
(a) 3=IAH =TTl
(b) EHE
(c) TraTaeT 3T
() e AT S

105.
Which one of the following provisions of the Constitution of India became effective from 26
November 1949?

(a) Office of the President of India

(b) Citizenship

(c) Emergency provisions

(d) Appointment of the Judges

W%ﬁﬁmﬁwaﬁﬂmwmﬂ%aﬁmmmﬂqmgm?
(a) HRA & ISCATT P HATT
(b) ATITIRERAT
OEISIGEEEC)
(d) Fararehei v i

106.
Which one of the following statements about the Comptroller and Auditor General (CAG) of
India is NOT correct?

(@) The CAG is appointed by the President

(b) He can be removed from office in the same way as a Judge of the Supreme Court

(c) The CAG is eligible for further office under the Constitution of India after he has ceased

to hold office
(d) Salary of the CAG is charged on the Consolidated Fund of India



IRA & AT ah-Age@iIeTs (CAG) & IR H AFfafl@d & & &l AT T ST
e TAE ¢ 2

(2) CAG &1 figfea asgufad oiar &

(b) 38 3TF U ¥ 3T TRE AT ST Thdl § ¥ 3TIAH «IATIT & ~IraTefrer
Ca)

(c) CAG 9el Ug W o I§ Sl o 9ATd, HRA & FiaemeT & 37T Rt 3R ug
Ol e

(d) CAG &T adeT #RT $r gfg [ w aRa &

107.

Which one of the following statements about the Parliament of India is NOT true?
(@) The Parliament consists of the President, Lok Sabha and Rajya Sabha
(b) All the members of Lok Sabha are elected through universal adult franchise
(c) Rajya Sabha cannot be dissolved
(d) Some members of Rajya Sabha are nominated by the President

HRA &1 T8¢ & IR & Aeafaf@a & @ sild a1 v Fyd TEr «1gt § 2
(a) THE Irseufd, oih T 3R Tog T & AT R a«ir g
(b) Feh THT & T TGET TSI JIEH AQIASR GaRT fAdIId g &
(c) T=g THT fagfea Agr r 1 Tehdr
(d) TST WHT & F© HeTT Tegyid ea@RT AH-[AERIT fohe smd &

108.
Which one of the following States is NOT excluded from the Fifth Schedule of the Constitution
of India?

(@) Assam

(b) Meghalaya

(c) Tripura

(d) Manipur



fFrfaf@d & @ i &1 v ToT HRA & AiGUeT $T grodl I d @ oareid
TE &

(a) 3I8H

(b) AT

(c) g

(d) AT

109.
A federal system of Government was first prescribed by the:
(@) Government of India Act, 1909
(b) Government of India Act, 1919
(c) Government of India Act, 1935
(d) Indian Independence Act, 1947

HR T IR gorell ggell aR fohdesr garr fafgd &r a8 o 2
(a) HRd THR HDTATH, 1909
(b) AR TR AAATA, 1919
(c) HRd WHR HATATH, 1935
(d) HRAT FaaFar HfAfATH, 1947

110.
Every Panchayat in India shall continue for five years from the date of:
(@) the declaration of results.
(b) its first meeting.
(c) the election.
(d) the notification of elections.

AR H 9% J9d, fra ali@ & dia aret d& seir @i ?
(a) IROTHAT & NWVA gl HT a@
(b) ST Tgell S5h I dRIT
(c) ars & ali@
(d) TaTr=t T e T dRiE



111.
Which one of the following is a missile system developed by India that can hit a target at a
distance of more than 5000 kilometers?

(@ Arjun

(b) Akash

(c) Agni-V

(d) Nag

fArfai@d & @ &l & T, $RA a1 fGeiad J&9eT Jomell § S 5000
foheliadler @ 31f8e &1 gt W F8 W TR & Fehell & ?

(@) 3l

(b) 3MTehTRT

(c) 3FA-V

(d) =TT

112.
According to the Fourteenth Finance Commission, what is the percentage of share of the Central
tax to be distributed to the States?

(@) 32%

(b) 42%

(c) 49%

(d) 40%

diegd faed AT & 3TER, TSI A ST 1 S dlell $HT FX FEHSIT Sl

gfaerddr &7 § ?
(@) 32%
(b) 42%
(c) 49%
(d) 40%

113.
The National Green Tribunal has recently directed that no vintage cars will be permitted to ply
on the roads of:

(a) Kolkata

(b) Mumbai

(c) Delhi

(d) Chennai



T R 3T & g1 & F Ru Wder & ar fFa awy f asel |
N el (Rieer) PR P T BT I G Al 2

QEIGEIG

(b) e

(c) feeelr

(d) Deot

114.
National Buildings Organization is an attached office of the:
(@) Ministry of Urban Development
(b) Ministry of Rural Development
(c) Prime Minister’s Office
(d) Ministry of Housing and Urban Poverty Alleviation

TSET HaA AT HerasaT T Tag ST § ?
(a) & A HATTT
(b) TTHOT TahrEd HATITT
(c) T FAT HATAT
(d) 3marT 3R B INNET IUAHT FHATSTT

115.
According to the Union Annual Budget 2015-16, what is the fiscal deficit target of the

Government of India?
(@) 1.5 % of GDP
(b) 2.0 % of GDP
(c) 2.9 % of GDP
(d) 3.9 % of GDP

Y & dIf¥eh e 2015-16 & IHER, ¥R AIHR & JThNT €1 FHT e FIT § 2
(a) GDP T 1.5%
(b) GDP T 2.0 %
(c) GDP T 2.9 %
(d) GDP T 3.9 %



116.
Under the Pradhan Mantri Kaushal Vikas Yojana, what is the average monetary reward per
trainee towards skill development of youth?

(a) Rs. 8,000
(b) Rs. 8,500
(c) Rs. 9,000
(d) Rs. 9,500

TSl HAT Hierel TahrE ANsfelr & 37elleT, Jarsit & ahierel fepr g wid gfreromdt
3aa Ao aTRARE T fhael & 2

(a) %. 8,000

(b) %. 8,500

(c) %. 9,000

(d) %. 9,500

117.
Eddie Redmayne was conferred the eighty seventh Academy Award for best actor for portraying
the character of:

(@) Charles Darwin

(b) Richard Feynman

(c) Stephen Hawking

(d) Isaac Newton

TS AT B Fad aRT &1 3P W F v gagss 3f@aar s 87ar
JICHT AT Yarid fohar arar ar ?

(a) TTeT STfdeT

(b) R=rg Wi

(c) TEhaT gifpar

(d) 3SR =gee

118.
According to NASA (National Aeronautics and Space Administration) and NOAA (National
Oceanic and Atmospheric Administration), which one of the following was the warmest year
since 18807

(a) 2011

(b) 2012

(c) 2013

(d) 2014



NASA RTSerT qaATfeIehl Tae 3aReT Temde) 3R NOAA RTSET AGRRIT TaH
AYHSNT TATHA) & AR, fAeAfaf@d & @ Fid a1 v, 1880 F a1 & T

37 I Iy or ?

(a) 2011
(b) 2012
(c) 2013
(d) 2014

119.
The Swachh Bharat Mission was launched in the year 2014 on the birth anniversary of:
(a) Swami Vivekananda
(b) Baba Saheb Bhimrao Ambedkar
(c) Mahatma Gandbhi
(d) Sardar Vallabhbhai Patel

oo ARG A, a¥ 2014 #F fhgdhr JadT o IR fhar am=r a7 ?
OREIINECEIG
(b) STaT AR HFRTT 3aSHT
(c) HETcHT el
(d) TER ToodHTHTS T

120.
Which one of the following Grand Slam Tennis Tournaments (year 2014) had the highest prize
money for the winner of Men’s Singles Title (in terms of US Dollar)?

(a) Australian Open

(b) French Open

(c) Wimbledon

(d) US Open

fFeof@d & @ #l @ v Iz T A e (@ 2014) H @V Tehel c3ied &
fasidr & fIT &R TR (US SToR & 3MUR W) 3Hf&ehds o 2

(2) 3TETorATS 39

(b) T 3TeT

ORE=REG

(d) US 379eT



